I% - A% HE | B & =&
ERERRRES REM
EHBETEEEM . (50=N<100)
0.41 | %75
HMESHDOER ; (Cotd L10)
Ay )—E 0.3 =]
HMESHOMER ;. (M L=10)
15 0.3 H
Witk E (EHRBRDH)
2 i
Witk E (EHRBDH)
238 B LA 70 i
TR BEDERE)
5<L=10 5 15
TR BEDBERE)
10<L=15 29 B
TP AR (BFEDBRBFLMN)
14.3 H
EHRARBEER . (L<0m)
0.8 H
EHRRBAEER . (L<0m)
23 B LA 2.6 H
EHRRASMESR . (L=10m)
1.7 H
EHRRBASESR . (L=10m)
258 B LA 51.8 H
WESER
L<10m; 0.58. L=10m; 6.2H 0.41 =X
TE&E (EREREER)
HEFTE €20 1.0 | %%
HEE (EREREER)
AFA. MARF 0.41 | %75
A—J70 X EtHE - #{F
= ZIRGER. 500635152 2.0 5
EEREE
RERBE
REXBEE GAE. STEXER)
1 =X

ER (REH 29]

/ 2




I7E - &FF HO® HE | BN & &
ZTOMEERE
BRAREER #m 62.4%/8
EXEHI6m, TEEHEE200kg 9.6 H [EzRzvgman 1.48
EFTEREIE #m 18.0%/8
FysZREYIN EEKRS12m 0.3 B |Esmexvgmaxn 1.4\
A—J79RERE
BHE (0—J79tR)
=RIRSER. 500635152 1 =
WiAEE (O—T7IERX)
=RIRSER. 500635152 2.0 |
BHEH (O—TF7HER)
= &RSERE. 500635452 40| A-H
BT (A—J79€R)
=&R&ERE. 500632452 1| &E
T4 bN\ViBEE (A—TT7 Y €X)
=RIRSER. 500635152 1 =
BHEE (—J79tR)
=RIRSER. 500635152 5 pi=|
BRRBIERE
SESY N
1 i
2L E
RBFEEZHEB
200 A - H
REMER EHEM 148
0. 41 X [BER+-EXRH
REMHRT GRE - #E)
26 i 108%8%Y 0.714A

RIR_BERER (RET Z9] 2 / 2



